ACCT 100 – Prof. Johnson
LECTURE NOTES

Chapter 11: Payroll Taxes, Deposits, and Reports
Chapter 11: an overview

We should view this chapter as an extension of Chapter 10. In Chapter 10, we:

· Learned the components of gross pay

· Calculated gross pay

· Learned the various payroll deductions, including employee payroll taxes

· Calculated payroll deductions

· Calculated net pay

· Recorded the payroll in a journal entry.
In Chapter 11, we will learn:

· The various employer payroll taxes

· How to calculate the employer payroll taxes

· How to record employer payroll taxes in a journal entry
· The purpose and the accounting for, of workers’ compensation insurance.

The rest of Chapter 11 is concerned with various forms used to report payroll taxes to governmental agencies. Those reports are covered in detail in a class called “Payroll Accounting.” As mentioned in the Chapter 10 Lecture Notes, most businesses outsource payroll preparation, including preparation of these payroll tax forms, to outside companies who specialize in this field. I have not assigned any exercises or problems that require you to prepare payroll tax forms. You should read these pages to obtain a general idea of the issues involved in reporting payroll taxes to the government.

Payroll Taxes

The following table summarizes both employee payroll taxes (Chapter 10) and employer payroll taxes (Chapter 11):




PAYROLL TAXES

EMPLOYEE





EMPLOYER
Social Security *




Social Security

Medicare





Medicare

Federal income taxes




Federal unemployment tax (FUTA) *

State/local income taxes



State unemployment tax (SUTA) *

* This tax has a payroll “ceiling”, or maximum, per year. The Social Security tax stops when the employee earns $117,000 in calendar year 2014. Our text uses a payroll ceiling of $113,700 for Social Security. Both FUTA and SUTA taxes stop when the employee earns $7,000 in any calendar year.

Note that Social Security and Medicare are both employer and employee taxes. The amounts withheld from the employee pay (Chapter 10) are matched by the employer. The FUTA and SUTA taxes are paid by the employer only.

Tax rates will be given in any test or quiz question, so you do not need to memorize any tax rates.

Calculating Employer Payroll Taxes
Example: Recall that Mr. Evans earned gross pay of $920.00 during the payroll period covering the week ended January 31 (see Chapter 10 lecture notes).  Let’s assume his entire gross pay is taxable. If the FUTA tax rate is .8% (.008), and the SUTA tax rate is 5.4% (.054), what is the amount of the employer payroll taxes on his gross wages for the payroll period ended January 31?

Answer:  $127.42, calculated as follows:


Social Security: 6.2% (or .062) * $920.00 = $57.04


Medicare: 1.45% (or .0145) * $920.00      =   13.34


FUTA: .8% (or .008) * $920.00
       =     7.36


SUTA: 5.4% (or .054) * $920.00              =   49.68 



Total employer payroll taxes
         $127.42

Journalizing Employer Payroll Taxes

Example: using the data in the example above, record the employer payroll taxes for the period ending January 31. Assume Mr. Evans is the company’s only employee.

Answer:

Date

Description




Debit

Credit

Jan. 31

Payroll Taxes Expense


127.42




Social Security Tax Payable



 57.04




Medicare Tax Payable




 13.34




FUTA Tax Payable




   7.36




SUTA Tax Payable




 49.68

When these taxes are paid to the respective governmental agencies, the payments will be recorded by debiting the “Payable” accounts and crediting the “Cash” account. 
Here is a guided example on computing employer’s payroll taxes.

http://www.viddler.com/embed/e56f5eff/?f=1&autoplay=0&player=simple&disablebranding=0
Workers’ Compensation Insurance

Most states require employers to carry workers’ compensation insurance. This is not a tax. Workers’ compensation insurance provides payments to workers who are injured on the job.

The cost of the insurance varies by state. The cost is a function of (1) total payroll, by job classification, and (2) a rate calculation that depends on the riskiness of the job classification. As an example, the insurance premium rate for an accountant would be less than the insurance premium rate for a construction worker.
The insurance is paid initially by estimating the upcoming annual policy premium. At the end of the year, a calculation based on actual rates and payroll is prepared. Any extra workers’ compensation premium owed is accrued by debiting the workers’ compensation insurance expense account, and crediting a workers’ compensation insurance payable account. If the initial premium payment proved to be too high, a refund is due, and an adjusting entry to debit a workers’ compensation insurance refund receivable account and credit the workers’ compensation insurance expense account would be journalized. 

Here is a guided example that illustrates the computation of workers’ compensation insurance premiums.

http://www.viddler.com/embed/5ba6f4fe/?f=1&autoplay=0&player=simple&disablebranding=0
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